SECTION 3 | Test 1

1) 300+ 6000 + 80 =
2 6940+10=

@;} 9+9+9+9+9+9+9=

{4 Wirite 4300g to the nearest kg.

§5) 23kg-800g = Mikg Mg
6 €018x6=
@ 13m —90cm = Micm

@ £1.00-58p=Mp

30 |

Find the sum of £1.15
and £2.85.

IV and IX are numbers
written in Roman numerals.
Find their total and write it
in Roman numerals.

Write 497 to the nearest 10,
From £3 take £2.22.

Find the total cost of five
breadrolls each costing 22p.

3407m = 3km im

What is the product of
9 and 137

Multiply (3 x 3) by 3.

From 1070mm take 20cm.

How many hundreds in 30007

6380

694

63

4kg

kg  700g

€1.08

60cm |

42p
30p

12p

£4.00

Xl
500

78p

£1.10

407m

117
27

870mm

Sechofield & >ims

L

10

£1.35 was given In change
after spending £3.65 What
amount had been given to

the shopkeeper? £5.00

i Find the distance
round the square

in centimetres. 14cm

35mm.

Y

If 100g of chocolate costs 80p,
how much will 250g cost? £2.00

20 drinks can be made from

a bottle of squash. How

many bottles will be needed

for 160 drinks? 8

From the sum of the even
numbers in the box subtract
the sum of the odd numbers.

(42 47 50 43 | 5

Jamie spends 24 minutes

altogether each day travelling

to and from school. How many

hours is this from Monday

to Friday? 2h

Write the next two numbers
in this sequence.

1.96, 1.97, 1.98, 1.99, 2.00

(or 2)

2.01

This line represents 100km.
What do 3cm on the line

represent?
ctm

3 | | | |

60km

How much less is % of £1.20

than :3; of £1.207 30p

1L of water has a mass of kg
Find the mass in kilograms -
of the water contained in

the three jugs. 13 kg

700 '
ml

@)




Mental Arithmetic 2 Answers SECTION 3 | Test 2
. 28x10= 280 | £ Which of these shapes has
two pairs of parallel lines? ,

e <> -

2) At a school concert there

were six rows each containing

15 chairs, 20 of the chairs

were not used. How many

chairs were used? 70

Answer

19¢m  6mm

@ Find the change from a
£5 note after buying Tkg ?f
mushrooms at £2.35 per ; kg. 30p

(@ The masses of three bags of
carrots are 250g, 300g, 3 kg
By how many grams is the

total mass more than Tkg? 509
. What is the distance from
YtoZ? 39km
_ 29k v
= - —7
E8rm

6 Sam was aged 10 in 1990.
How old will he be in the
year 20207 40

@ Which two of these fractions
are equivalent to one-quarter?

g agd 3 - 3 5
2 2 7 4 12 10 2 a

@ 10 marshmallows have a mass
of 50g. How many marshmallows
will have a mass of 5 kg? 100

) The distance round the square is

the same as the distance round

the triangle. What is the length

of one side of the square? 6cm

Alex’s height is 90cm and Jade

is 40cm taller. How many

centimetres less than 1 ; m

is Jade's height? 20cm




SECTION 3 | Test3

(SRR s

10 Write in digits six thousand
one hundred and one.

gx7=70-
£0.23 + £177 =
73-28=

f064 -8=1p

Write 378cm to the
nearest metre.

eighteen Sps = = 10ps
31300ml- 31= WL Eml

From 10.35 a.m. t0o 11.10 a.m.
= 1 min

e 06060 0GLOG@®

Tkm—-397m=im

6101

£2.00

45

8p

4m
9 10ps
2l 800ml

35min

103m

Answer

|

f1) Complete this sequence.
4075, 4050, 4025, =,

{2 From the sum of 39 and 6
subtract 20.

@) From £5 take £3.08.
(@ Add seven 10ps to £2.50.
50 Multiply £1.40 by 3.

o Share £1.20 equally among
five children. How much is
one share?

7 How many centimetres in
three-tenths of a metre?

8 Five pencils cost £1.
What is the cost of

a one pencil
b four pendils?

@) Find the total of VIll and
Xl and write it in Roman
numerals,

. How many mmin 35m?

4000 3975
25
£1.92
£3.20
£4.20
24p
30cm
a 20p
80p
XIX |
100mm |

34

1% Which of thesé triangles 15 @
right-angled triangle?

RSO

Z

2. Alfie was born In 1998. Jade |§
five years younger. In what year
was Jade born?

3 Holly gave siX friends eight.
grapes each and she had five
grapes left. How many had
she at first?

4 A
Estimate which of these
measurements is nearest to
the length of the line AB.

10cm 60mm gmm 20mm |

5 Which of these numbers Is a
multiple of both 8 and 9?

(38 49 57 72 82 |

6 Ellie is 135cm tall and Samira is
40cm smaller. How much short
of 1 metre is Samira’s height?

7 Sophie runs
257m f h
Tom's Sophle’s rom her home
house house to Tom's
and back.

How far did she run?

8 Three of theem’s paces
measure 13 m, What do
12 of his paces measure?

9 Three girls shared their
money equally. How much

did each get?
Chloe
60p

10 Find the missing number.
=

1.
e I 4 =

Abby
90p

Olivia
90p

3

2003

e0mm

72

5cm

514m

6m

80p

12



Mental Arithmetic 2 Answer:

1) 45min + 25min = [0 h
20 1009 -100 =

3 four 20ps = I 5ps
@ 600mlx 5= 11

@ £015x6=

@ :ofgp=

D £4-£377=

@8 650mm = cm

@ 12px7=¢m

0 43kg- 700 = Mikg Mg

min

th  10min
909
16 5ps
3

£0.90
9p

£0.23
65cm

£0.84
3kg 8009

A Write 114mm to the
nearest centimetre,

the time

\ shown on
this clock.
Use a.m.
or p.m.

alternoon

Add the odd numbers in
the box.

[ 20 31 54 69 |

How many minutes from
9.25 a.m. to0 10.20 am.?

ones are 5 quarters?
Find the total of 24 and 79.
What fraction of 56p is 7p?

Four sweets cost 20p.
How much will 20 cost?

Divide £1.50 by 6,

What is the missing sum
of money?
Bp+3=15

Write in digits

How much less than 2 whole

11cm

2.53 p.m.

£1.00

100

55min

103

H

25p

45p

35

SECTION 3 | Test 4

10

In & game Josh scored 50

and 37. How many more

did he need to make his

score 1007 13

A roll of ribbon 4m long
was cut Into 20cm lengths
How many lengths

were there? 20
Which of these triangles 15

an acute-angled triangle? V4

A queen was born in 1430
and died in 1901, How old
was she when she died? 71

Find the difference between
the two largest fractions
in this set

G 9 4
10, 10, II'J}

)
‘ 2,10,
2200 brownies were put into
packets of 10. How many
packets were there altogether? 220
Write these decimals in

ascending order,

096 191 998 099 1.05 |

09 099 105 1.9

(4
3,98

1,50
£1,5%

e

Find the change
from £5 after
paying these
lwo amounts £1.95
A cup holds 150ml

How many millilitres are

left from 10 when six cups

have been filled? 1007
Elliot's helght is '1,:|r|

How many centimetres
Laller is he than Ali whose
height 1s 110cm?

65cm



